C e ,
[:I :l
" I|
1 P P e T,
n [ TR
| $
~ @ o
N~
H—| , -~
L |( \,_ L _;
1 1 '
A 3 A
3
/ e o
f ol
. ]
J 1 ' ' .
\ : : ' '
\ ' v '
N o ' ' : !
\ ' ' '
3 ' : 1
o ~ : ' ' !
' ' ' :
' ! ¥
) | \‘ =7 !
- L
| |
@D w E c H w
HT10112-0013 13su 15.88 25 06 w3a/8 M6x 25 27 618 12 28
HT10112-0020 20sU 2222 25 06 w3/8 M6x 25 27 653 12 28
HT10112-0025 25sU 2858 25 06 w3/8 M6x 25 27 68.6 12 28 T =
HT10112-0030 30sU 340 25 06 w3/8 M6x 25 27 720 15 28 sU HT 135U 150SU
HT10112-0040 40SU 427 25 06 w3a/8 M6x 25 27 76.4 15 28 pr— ——
3 SURFACE TREATMENT
HT10112-0050 50SU 486 25 06 w3a/8 M6x 25 27 79.4 15 28 HT10112-
HT10112-0060 60SU 60.5 25 06 w3/8 M6x 25 27 85.4 17 28 — — s
HT10112-0075 75SU 76.3 25 1.0 w3/8 M8x 25 27 954 20 28 SUS304 SUS304
TPE
HT10112-0080 80SU 89.1 25 1.0 w3a/8 M8x 25 27 1018 20 28 YT = e ——
HT10112-0100 | 100SU 114.3 25 1.0 w3a/8 M8x 25 27 114.4 20 28 AKaneshige | 21.0317
HT10112-0125 | 125SU 139.8 32 15 wi/2 M10x 35 45 1533 25 35
HT10112-0150 | 150SU 1652 32 15 w1/2 M10x 35 45 166.1 25 35 '\\VJ AWJIBRREtt




